Rules for Pest

Object of the game: Build a “hand” of cards that scores the most points.
Materials needed:

. Deck of “Pest” cards, well-shuffled

*  Score cards — One for each player

*  Dryerase pens & erasers

To play:

Shuffle Pest Cards and place them in a stack, problem side up where everyone can reach therm.

Take turns drawing from the pile and answering the questions. If you get the question correct, you keep the card. If you get it wrong, the card
goes back to the bottom of the stack.

If you get a “Free” card, you can keep it or trade it with another person who has something you need. The other person has to agree to the
trade.

To win: At the end of the game (when time is up or all cards are gone) , add up points according to the score card. Player with the most points
wins.

Scoring:
* 3 points for each 4 of a kind
* 2 points for each 3 of a kind

* 1 point for each 2 of a kind
* 0 points for single cards

Printing: Landscape, grayscale, 2-sided, flip on short side, laminate to use dry erase.




Unit: 3" - Fractions
. . Note: Some parts of these materials are taken directly from released STAAR tests Copyright
3.3.A-3.3.C-3.3.D - representing fractions © 2015-2021. Texas Education Agency. All Rights Reserved. Used by Permission.

Pest

1. 2. 3. 4. 5. 6.

13. 14. 15. 16. 17. 18.

19. 20. 21. 22. 23. 24,

25. 26. 27. 28. 29. 30.




Scorecard

-4 ofakind X 3 points =
______-3ofakind X 2 points =

______-2ofakind X1 points =

Total points =

Scorecard

-4 ofakind X 3 points =
-3 ofakind X 2 points =
______-2ofakind X1 points =

Total points =

Scorecard

__ -4 ofakind X3 points =
-3 ofakind X 2 points =

-2 ofakind X1 points =

Total points =

Scorecard

-4 ofakind X3 points =
__ -3 ofakind X2 points =
__-2ofakind X1 points =

Total points =










Free snail!

You can keep this free snail

or trade it for another pest

with someone who wants a
snhail.







Free ant!

You can keep this free ant or
trade it for another pest
with someone who wants a
ant.







Free worm!

You can keep this free worm

or trade it for another pest

with someone who wants a
worm.







Free bat!

You can keep this free bat or
trade it for another pest
with someone who wants a
bat.







Free rat!

You can keep this free rat or
trade it for another pest
with someone who wants a
rat.




.5)
S .j ‘




Free mosquito!

You can keep this free
mosquito or trade it for
another pest with someone
who wants a mosquito.







1. Anissa shaded part of the figure shown below. What fraction of the figure is shaded?
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2. What fraction is represented by the shaded bar on the number line?
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3. Three friends divided pizzas into pieces. The shaded parts of the models represent the pieces
that the friends ate. Which statement describes the fraction of a pizza that one of the friends
ate?

Diego Victoria Wesley

1N
NN

A. Diego ate % of a pizza, because he ate the largest piece of his 2 pieces.

: : 1 : . : :
B. Victoria ate 3 of a pizza, because she ate 1 piece and had 3 equal-size pieces left over.
C. Wesley ate % of a pizza, because he ate 1 piece of his 2 equal-size pieces.

: : 3 : . :
D. Victoria ate i of a pizza, because she ate 1 piece and had 3 pieces left over.
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4. Models R and T are shown. Which statement is true?

Model R Model T

A. The shaded parts of Model R and Model T are different sizes, but each model represents the
same fraction of the whole.

. .1
B. The shaded part of Model R cannot be written as the fraction < because the parts are not all
equal in size.

C. The shaded part of Model T is % , because the parts are all equal in size.

D. The total number of parts in Model R is 5, so % of Model R is shaded.
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5. There are 4 books on a shelf. In the model the shaded books represent nonfiction books.

Which expression represents the fraction of the books on the shelf that are non-fiction?

Ac+iyliyl
4 4 4 4

B.I 44~
4 4 4

Cortdz+4-
3 3 3

3 3 3

D.2+=+42
1 1 1
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6. A farmer gave% of a bale of hay to a horse each day on Monday, Tuesday, and Wednesday.

Which equation can be used to find the fraction of a bale of hay the farmer gave the horse on
these three days?

AZ4iyz=2
4 4 4 4
Bog g ==
4 4 4 12
cl,1,1_3
7 7 7 7
D. - 4-4-=—
7 7 21
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7. Abigail shaded part of the figure shown below. What fraction of the figure is shaded?

Sk O A0 W
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8. Snappy the Snail started at 0 and is crawling to 1 on the number line. What fraction
represents how far he has crawled?
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9. Baily the Baker made three pans of brownies. While he wasn’t looking his terrible cousins

Benny, Betty and Beatrix ate some of the brownies! The shaded parts of the models shows how
much each cousin ate.

Benny Betty Beatrix

Which statement is true about the fractions of the pans of brownies the cousins ate?

. 1 . . . .
A. Beatrix ate p of her pan of brownies, because her pan was divided into two pieces, and she
ate the larger one.

1 : : : :
B. Benny ate " of his pan of brownies because he ate one piece and there were 4 equal-sized
pieces left.

C. Betty ate % of her pan of brownies, because she ate 1 piece of 3 equal-sized pieces.

1 : : . : :
D. Benny ate < of his pan of brownies, because it was cut into 5 pieces, and he ate one of them.
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10. Models A and B are shown. Which statement is true?

Model A Model B

A. The shaded parts of Model A and Model B are different sizes, but each model represents the
same fraction of the whole.

B. The total number of parts in Model B is 10, so 1—10 of Model B is shaded.

C. Both models have one part shaded, so both models represent 1—10.

D. The total number of parts in Model A is 10, and all the parts are equal size, so 1—10 of Model A is
shaded.
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11. Veronica has 8 bunnies. Some are white and some are black.

%7

¥
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12. Deion is reading a book. He read % of the book each day on Monday, Tuesday, Wednesday

and Thursday. Which equation can be used to find the fraction of the book Deion read on these
four days?

Ast 441
4 4 4 4

4
4
1 1 1 1 4
Bo+-+-+-=—
4 4 4 4 16
1 1 1 1 4
Co+-+-+-==-
6+6+6+6 6
4

24

1 1 1 1

D.-+=-+-+-=
6 6 6 6
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13. What fraction represents the part of this group of tires that is flat?

RIS BDRr NIRr BNw

3.3.A-3.3.C- 3.3.D - representing fractions - Pest







14. What fraction is represented by the shaded bar on the number line below?

vl @l Iy o|w
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15. Matilda has three equal-sized pieces of cardboard that she has been using for art projects.
The shaded part of the models represent how much of each piece of cardboard she has used.
Which statement describes the fraction of a piece of cardboard that Matilda has used?

Cardboard 1 Cardboard 2 Cardboard 3

A. Matilda has used 3 pieces of Cardboard 1, so she has used % of Cardboard 1.

B. Cardboard 1 is divided into 6 equal pieces, and Matilda has used 3 of them, so she has used
3
. of Cardboard 1.

C. Cardboard 2 is divided into 2 pieces and Matilda has used 1 of them, so she has used % of
Cardboard 2.

D. Cardboard 3 is divided into 4 pieces and Matilda has used 3 of them, so she has used % of
Cardboard 3.
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16. Models R and T are shown. Which statement is true?

Model R Model T

A. The shaded parts of Model R and Model T are different sizes, but each model represents the
same fraction of the whole.

B. The total number of parts in Model T is 6, so % of Model T is shaded.
C. The shaded part of Model R is % , because the parts are all equal in size.

D. The shaded part of Model T CANNOT be written as the fraction %, because the parts are not
all equal in size.
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1 1 1 1
A—+—+—+—
10 10 10 10
4 4 4 4
B.— +—+—+—
10+10+10+10

1

10

4 04 4 4
D.-+-+- +-
T tItI T

1 1 1 1
CoF—F—F—+—+
10 10 10 10

17.Nicky found ten bugs in his lunch box. In the model, the shaded bugs represent dead bugs.

T
£ £
& y

Which expression represents the fraction of the bugs that were dead?

1

10
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18. Carlotta the Cavity Queen ate % of a pound of chocolate each meal at breakfast, lunch and

dinner today. Which equation can be used to find the fraction of a pound of chocolate that
Carlotta ate today during mealtimes?

5 5 5 15
A+242=2
1 1 1 3
1 1 1 3
B.~+-+-==2
5+5+5 5
1 1 1 3
Cot-t-=—
5+5+5 15
3 3 3 9
D.o+=+2==2
5 5 5 5
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19. Which model has exactly % shaded?

Model 1 Model 2 Model 3 Model 4

A. Model 1
B. Model 2
C. Model 3
D. Model 4
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20. Snappy the Snail started at 0 and is crawling to 1 on the number line. What fraction
represents how far he has crawled?
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| | | |

T | | I
0 1
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21. Patricia, Paul and Polly are painters. They are painting three identical walls in a bedroom.
The model shows how much of each wall they have each painted. Which statement describes
the fraction of a wall that each of them have painted?

Patricia Paul Polly

A. Patricia has painted % of her wall.
B. Paul has painted % of his wall.
C. Polly has painted % of her wall.

D. Polly has painted % of her wall.
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22. Models R and T are shown. Which statement is true?

Model R

Model T

A. The fraction shaded in both models is %.
B. Model R and Model T both show % of the model shaded, but the i shaded in Model T is larger.
C. The shaded part of Model T is % , because the 4 parts are all equal in size.

D. The shaded part of Model R is % because the model is divided into 4 parts.
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23. There are 10 bears at the zoo. Some are black bears, and some are polar bears

Which expression represents the fraction of the bears at the zoo that are polar bears?

4 4 4 4
A—+—+—+—
10 10 10 10

1 1 1 1 1 1 1 1 1 1
B'Z+Z+Z+Z+Z+Z+Z+Z+Z+Z

1 1 1 1
Cytatats

+-+-+

1 1 1 1
D.—+—+—+—
10+10+10+10
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24. Ridiculous Rachel gave % of a box of Possum Chow to her possum, Pooty, each day for one

whole week. Which equation can be used to find the fraction of a box of Possum Chow that
Rachel fed to Pooty that week?

Acd -t 4t -=L
8 8 8 8 8 8 8

1 1 1 1 1 1 1 7
Bststetstets™s™ 5

7 7 7 7 7 7 7 49
Cetststststs™s™ %
D.24+2424 8,8, 8, 8%

1 1 1 1 1 1 1 7

3.3.A-3.3.C- 3.3.D - representing fractions - Pest







25. Snappy the Snail started at 0 and is crawling to 1 on the number line. What fraction
represents how far he has crawled?
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26. What fraction represents the part of the eggs in this carton are broken?
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27. Three friends divided pizzas into pieces. The shaded parts of the models represent the
pieces that the friends ate. Which statement describes the fraction of a pizza that one of the
friends ate?

Diego Wesley Victoria

1N
NN

A. Diego ate % of a pizza, because he ate the largest piece of his 2 pieces.
B. Wesley ate % of a pizza, because he ate 1 piece of his 2 equal-size pieces.
C. Victoria ate % of a pizza, because she ate 1 piece and had 3 equal-size pieces left over.

: : 3 : . :
D. Victoria ate i of a pizza, because she ate 1 piece and had 3 pieces left over.
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28. Models R and T are shown. Which statement is true?

Model R Model T

A. The shaded parts of Model R and Model T are different sizes, but each model represents the
same fraction of the whole.

B. The shaded part of Model T can be written as the fraction % , because Model T is divided into
6 parts and 4 of them are shaded.

C. The shaded part of Model R can be written as the fraction % , because Model R is divided into
6 equal pieces and 4 of them are shaded.

D. The total number of parts in Model T is 6, so Z of Model T is shaded.
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29. Daniel tested 6 brand new batteries, but some of them did not work. The gray batteries in

the model represent the ones that did not work.
+

Which expression represents the fraction of Daniel’s batteries that did not work?

A4
6 6
1 1 1 1
2 2
C.g+g
D.24+2
11
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30. Jasmine has been saving up money for a long trip. She spent % of her money the first week

of her trip, % of her money the second week, and % of her money the third week. Which

equation can be used to find the fraction of Jasmine’s money that she spent during the first 3
weeks of her trip?

cieieini
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